BAP, USPSP podzim 2004

jméno
dotaz
téma
esej
výsledek




1
2
3
4
5
6
7
poznámka


baklíková
ano
.ano
+-
+-
+-
+
+
+
+



balunová
ano
.ano
+-
+-
+
+
+
+
+

zápočet

baňasová
ano
.ano
+
+-
+-
+-
-
-
-



barbiriková
ano
.ano
+-
0
-
-
-
-
+-



banďouchová
ano
.ano
+
-
0
+
+
+-
+-



bartúnková
ano
.ano
+-
-
+-
+
+-
+
+-



benešová
ano
.ano
+-
+-
+-
+
+
+
+



bijeljaninová
ano
.ano
+
-
+
+
+
+
+



blešová
ano
.ano
+-
+
+-
+
+
+
+-

zápočet

brzobohatá
ano
.ano
+-
-
+-
+
+
+-
+-



coufalová
ano
.ano
+-
+-
+-
+-
+-
+-
+-

zápočet

čermáková
ano
.ano
+
0
0
+
+-
+
+



černá
ano
.ano
+
+-
+
+
+
+
+

zápočet

elznic
ano
.ano
+-
+-
+
+-
+
+-
+

zápočet

fialová
ano
.ano
+-
+-
-
+
+
-
0



floriánová
ano
.ano
+-
-
+-
+
+
+
+-



haluzová
ano
.ano
+
-
+-
+
+
+-
+



hanáková
ano
.ano
+-
-
+
+
+-
+
+



hetmánková
ano
.ano
+
+-
+-
+-
+-
+
+



hoďáková
ano
.ano
+-
-
-
+-
+
+-
+



horáková
ano
ano
+-
-
-
+-
+-
-
-



hráčková
ano
.ano
+
-
+-
+-
+-
+-
-



hrdá

.ano










huzlíková
ano
.ano
+
-
+-
+
+-
+
+-



hybská
ano
.ano
+
+-
+-
+
-
+-
+-



chytilová
ano
.ano
+
+-
+-
+
+
+
+-



jedličková
ano
.ano
+
+-
+-
+
+
+-
+-



kamencová
ano
.ano
+-
-
+-
+
+
+-
+-



kelíšková
ano
.ano
+-
-
-
+-
+-
+
0



klimentová
ano
.ano
+
+-
-
+
+
+-
-



klusová
ano
.ano
+
+-
+-
+
+
+
+



kociánová
ano
.ano
+-
-
+-
+-
-
+-
-



kolářová
ano
.ano
+
+-
+-
+
+
+-
+-



kolář
ano
.ano
+-
-
+-
+
+
+-
+



kouba
ano
.ano
+-
+-
+
+
+
+
+

zápočet

králová
ano
.ano
+
+-
+-
+-
+
+
+

zápočet

krejčí
ano
.ano
+
+-
-
+-
+-
+
+-



kretová
ano
.ano
+
-
+-
+-
+
+
+



kubáčková
ano
.ano
+
+-
+
+
+
+-
+-



kubalová
ano
.ano
+-
-
+
+-
+
+
+



kuráň
ano
.ano
+-
-
-
-
+-
0
0



květoňová
ano
.ano
+
+-
+-
+-
+-
-
+-



labajová
ano
.ano
+
+-
+-
+
+
+
+

zápočet

ludvíková
ano
.ano
+
+-
+-
+-
+
+
+

zápočet

marcaníková
ano
.ano
+
+-
+
+-
+-
+
+-

zápočet

mikšíková
ano
.ano
+
-
+-
+-
+-
+-
0



műllerová
ano
.ano










polzerová
ano
.ano
+-
-
-
+-
+-
+-
0



půlpánová
ano
.ano
+
+-
+-
+
+
+
+
podmínka



ramšová
ano
.ano










robotková
ano
.ano
+
-
+
+
+
+
+



sedmíková
nečetla
.ano
-
-
+-
+-
+-
+-
+-



sehnalová
ano
nedodala










schlesingerová
ano
.ano
+-
+-
+-
+
+
+
+



sedláčková
ano
.ano
+
-
+-
+
+
+-
+-



spáčilová
ano
.ano
+-
-
+-
+
+
+
+



šebková
ano
.ano
+
-
+-
+-
-
+-
-



škramlíková
ano
.ano
+
-
+-
+
+
+
+-



teplá
ano
.ano
+
-
-
+
+
+-
+-



trundová
ano
.ano
+
+-
+-
+
+
+
+



tůša
ano
.ano
+-
-
-
+-
-
-
-



valentová
ano
.ano
+
-
-
+-
+-
+-
+



záhorová
ano
.ano
+
+-
-
+-
+-
+-
+-



zajícová
ano
.ano
+-
+-
+-
+
+
+
+

zápočet

zelenková
ano
.ano
+-
-
0
+-
+-
+-
+-



zemanová
ano
.ano
+-
-
+-
+
+
+
+



žouželková
ano
.ano
+-
-
-
+-
-
+-
-



� Zformulujte nerovnováhu bodu 3 jasně, dle zadání a příslušné teorie.





